1.2 Warm-Up

1. What is your height, in feet and inches? in cm?

2. A line has been divided into equal parts. Match each of the letters to one or more of the following
fractions.

3. Convert each mixed number to an improper fraction.

3 7 3
2= b)1— 3=
a) 8 ) 16 ) 4

4. Determine each product without using a calculator.

) @(15) b) (2%)(6) 0 (7%}(8)

5. What is the length of each unknown side?

a) b) e 0

- 5cm
6 cm m T

8cm



Foundations & Pre-Calculus 10
1.2 Imperial Measurement

Before beginning to implement the ST system of measurement in 1970,
Canada used the Imperial System of measurement. The United States
continues to use the Imperial System. There are still remnants of this
system that Canadians still use today. What are some examples?

foel and inches for \enSHf\ Cups ond  in
'Po:mds Loc wei&\,‘}, toldespoons cwk"b

¢ . .
The Mmain Grits of measure’in the Imperial system are the inch, the
foot, the yard and the mile. Here is a chart that lists the names,

abbreviations/symbols and any equivalent ratios for each unit. 5&0" Binche

] "
Unit Abbreviation/Symbol Equivalent Ratio(s) S 8
Inch in. or " ft KR
n
Foot ftor' 1ft=12in. 5 8
Yard yd 1yd =3 ftor 36in.
Mile mi 1 mi = 1760 yd or 5280 f+

As with SI, Imperial measurements can be estimated using referents
or measured exactly using the same types of instruments as before

(ex. ruler, tape measure, caliper, etc). I‘H : 2in
Examples: | mi = 5)80&

1) Convert the following units:

a) 5.5 ft = in. b) 14 342 ft = mi
Gofk, 12 0 M3fE L™ ) o
£ i 5180 f*

] "

\2 i
é) Lt - Gﬂ- % _-l--—‘a' + L\- n
= _-16 n



2) Read the measurement indicated on the Vernier caliper pictured

below. L 1.329"
B 2 .323
| 1 2 3*4 5 6 7 8 9 .005
|||‘|H A TEEC TR TRRF AT ||||||||‘|| 1.228"

. ||!|||II‘||II‘
Hox %\ %—W is_the \ne

1.055" | 535 1.1007 fo okt

3) The following diagram of a horse has a scale of 1:25. Calculate the
height of the horse to the nearest inch (a horse's height is measured

at the withers, or front shoulder). lem pﬂwe -.'J\Scna e

_piaure =~ 25" reel

Height: \q3 % )




3) A family wants to purchase a 42" television. They are undecided as
to whether they should purchase a standard 4:3 TV or an HDTV that
has a 16:9 screen ratio. Keeping in mind that the size of a screen is the
measure of the diagonal, determine which of these two TV screen
ratios would give the largest viewing area. Y

VATV 398" [ ¢

’5-1"\' - \

A= 25.2+x3)8
A: 8)_(,,6 ir\‘1

42 8
g * 4

(‘ix)). + (Nox)z - (l-\;;_")z

\
e 6%7 8lx + 256X = [64

™ Ln\ 333 = 364
| Dyw e
" x 3

topis 10229 23664 X~ = 512

9i1de i Gy2.29 = 20.60 ¥ = {8.22

X = 2.29

Aceo- 36 6% ¥ 20.6)
= $95.2 'ml

?lq HZ,%,‘S)}.—“J 5-18
Quiz next doss.



